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1. Choose the correct answer /Answer the

following : 1x8=8

(a) The time path of price is convergent
when

(i) slope of supply curve is steeper
than the demand curve

(i) slope of demand curve is greater
than the slope of supply curve

(iii) slope of demand curve is equal to
slope of supply curve

(iv) None of the above
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(b) Select the correct statement.

(i The value of a determinant changes
if the rows and columns are
interchanged.

(i) If two rows of a determinant
are identical, the value of the
determinant will be non-zero.

(ii) If any two rows are interchanged,
the sign of the determinant will
alter, but numerical value Wwill
remain same.

(iv) All of the above
(c) 1f |A|#0, then A is
(i) zero matrix
(i) singular matrix
(i) non-singular matrix
(iv) diagonal matrix
(d) 1If the total cost function is

C=20% -150? +300+16
then the AVC will be
(i) 602 -30Q+30
(i) 202 —150+30+ 16
Q
(i) 202 -150Q +30
(iv) 16
p23/1115

P23/111
( Conﬁm‘ed ) 4 :

(3)

(e) The profit maximization in multi-
product firm, producing two products,
requires that

(i) |H;|>0 and |H, <0
(i) |Hy|>0 and |H, [>0
(iii) | Hy |<0 and |Hy [=0
(iv) |H; |<0 and | Hy [>0

(1 Define homogeneous production
function.

(g) The cross elasticity of demand in case of
complementary goods is

(i) positive
(i) negative
(i) independent
(iv) zero
(h) The least cost combination of inputs
requires

(i) slope of indifference curve = slope of
budget line

(i) slope of isoquant = slope of isocost
curve

(it the isoquant is convex to the origin

(iv) Both (i) and (i)
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2. Answer any four of the following : 4x4=16 or
(a) Write a note on economic application of (b) (i) Given, slope of demand curve
first-order difference equation. |e.]=3 and slope of supply curve
() Explain briefly the inverse of a matrix B |=4. Determine whether
and its properties. equilibrium is stable. 1
(c) Prove that for any scalar , (i) Given the demand and supply
AMA+B)=XA +B function as
(d) What is meant by Constant ElaSticity of 3Xa = 20-F
Substitution (CES) production function? 3Xg =—20+7F
I?rove that CES production function isa Find the equilibrium price, the time
'l;near hor.nogeneous function. path and determine, whether or not
(e)saThe n.1arg1na_1 revenue and marginal cost the equilibrium is stable. 7
functions of a firm are given ag . :
¢ 1 (i) Solve the following difference
M, 25 —EQ equation by iterative method : 3
MC=0-2@2'%Q+2 Vi vieoy and i S0
and total fixed cost is 10. Find out total 4. (a) (i) Define rank of a matrix. . 1
profit when the firm produces and sells (i) Evaluate the following
10 units of output. determinant : 5
3. (@ (i Solve the difference equation TSI
Yt+1“Yt=10 and YO =51 4 2 2 1
(i) In a Cobweb mode] L oG
Qat =a=bP, (g b> 0) (1i7) Solve the following national income 6

= i mer’s rule :
Qu = —c+ai_',P£‘1 (6 d>0) model using Cram

Qg = O« Y-—-C+IO+G0 5y
i i C=a+py-T) @>00<pP<
Obtain tI'Te‘ time path P, anq aitcilie 4 g( S
the condition for jtg convergence =Y+3dY (y>U;
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7. (@) () Using Lagrange multiplication
method, find the extreme value of
the function

subject to x; +2x, =14. 2

(i) A consumer has a utility function
U=xy, where x and y are the
goods purchased and his budget
constraint is given by B = xP, +yP,.

Find out demand functions for x
and y. 6

Or

(b) Cost and production function of a
firm that wants to produce 64 wunits
al minimum cost are respectively
C=2L+4K and Q=8LY4K1/2_ pind the
quantity of K and L. 11
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